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Policy School: How to win policy

1. Highlight the issue: 

•Information / understanding / facts / explanation

2. Explain the problem: 

•Why does this matter?

•Who does it matter to?

•Who is to blame?

3. Provide a solution: 

•Policy – Who benefits
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The issue: A Dangerous Moment

• People are angry, cost of living concerns are top of mind.

• They have good reason to be angry: living standards have been 
damaged – badly for some.

• Politically, around the world the anger is directed against incumbents 
(US, Europe, Canada, NZ).

• Unions and others are making demonstrable progress fighting to 
defend and repair living standards.

• But right-wing populists are channeling that anger into destructive 
directions.

• Progressive need to respond strongly; not with business as usual



The issue: Inflation is worldwide



The Problem

•NOT inflation BUT COST OF LIVING 
and LIVING STANDARDS

• Inflation is about growth rates of prices.
• Economists love it, people don’t understand it

• If you talk about inflation falling it makes no sense

• If you say that inflation is under control because the CPI is now 
2.8% people will roll their eyes.

• Speak to people’s concerns; don’t try to teach them 
economics.



The Problem: Inflation is not Cost of Living
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The problem: Not just costs – living 
standards are also about wages



The problem: Not just costs – living 
standards are also about wages…and rates



The problem – living standards

Falling living 

standards 

means your 

wage buys less



So what happened and who is to blame?

• 1. A global pandemic

• 2. The pandemic ends and things open up… but

• 3. Supply shortages – shipping issues, quarantine etc

• 4. Russia invades the Ukraine

• 5. Businesses taking advantage of the bad things to make profits

Isabelle Weber: “the sudden news of cost shocks, like the onset of a pandemic 
and war, grants companies more freedom to coordinate price hikes across sectors 
because they realize that their rivals are very likely going to do the same.”

“even if they simply keep their profit margins in response to a cost shock, their 
profits increase.” 



Who is to blame? Companies
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Who is to blame? Companies

It was not 
just mining 
profits
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Who is to blame? Companies

But it was 
also mining 
profits



The Problem: The RBA

Biggest price 
rises were 
essentials…

Wages were 
not driving 
inflation…

But when the 
only tool you 
have is a 
hammer…



The RBA Solution FAILED

•RBA rate hikes are meant to slow spending because 
we are spending too much “excess demand”

•Spending though was already weak – rates just made 
it worse.

•Economic growth fallen to near zero.

•No technical recession (2 negative quarters) but only 
due to population growth.

• It feels like a recession.

•Myth of ‘excess demand’ obviously false.



The RBA gets it wrong – some history



The RBA gets it wrong – the post-pandemic



The solution

1.Acknowledge the issue.

2.Don’t talk about inflation – talk about prices.

3.Don’t say it is up to the RBA – they have been part of the 

problem.

4.Forget guff about the RBA being “independent” – that does not 

mean beyond criticism.

5.Don’t forget to talk about wages.



The solution - wages

1. Strong minimum-wage growth

2. Better bargaining – the government has been very good on this

3. Funding childcare and age care workers

4. No more public sector-wage caps

5. Same job, same pay 

6. Stop buying into the line that wage rises will cause inflation. 

They have not, they are not. 

7. A strong safety net – Jobseeker (raise the rate)



The solution



The solution

1. Ditch the belief that the ONLY way to lower inflation is higher interest rates

2.Governments CAN lower prices
1.They did it for childcare

2.They did it for electricity

3.Why stop there?

3.  Price controls
1.OMG – COMMUNISM!!! No! – when workers are not to blame they should not wear the pain.

2.Ditch the belief that the market works perfectly – Coles, Woolies, the Banks, Qantas etc etc

4. A Prices Commission – the ACCC does not care about prices

5. Instead of interest rates – superannuation 

6. Support households; support public services

7. Tax companies! (see previous policy school)

8. People want action. Be bold. Be honest that more of the same delivers the same.



Thank You 
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